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import sys

sys.path.append("statlib")

from multi import APSS_logistic
APSS_logistic(dat, sort_by="deviance")
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import pandas as pd

import sys
sys.path.append("statlib")

from multi import APSS_logistic

data = pd.read_csv("data/lr.data", sep="\t")

DUTFDXI%BF—2 7L —LIBWT, x1, x2D2EEZH Ty 2 Tl CHR) 3,



data.head ()

x1l x2
0 118 227
1 150 310
2 110 212
3 135 198
4 130 265
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APSS_logistic(data, sort_by="LogLik")

LogLik deviance AIC variables
2 -36.091985 72.183971 78.183971 [x1, x2]
0® -36.167461 72.334922 76.334922 [x2]
1 -38.127960 76.255921 80.255921 [x1]
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APSS_logistic(data, sort_by="deviance™)

LogLik deviance AIC variables
2 -36.091985 72.183971 78.183971 [x1, x2]
0 -36.167461 72.334922 76.334922 [x2]
1 -38.127960 76.255921 860.255921 [x1]
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APSS_logistic(data, sort_by="AIC")

LogLik deviance AIC variables
0 -36.167461 72.334922 76.334922 [x2]
2 -36.091985 72.183971 78.183971 [x1, x2]
1 -38.127960 76.255921 80.255921 [x1]



